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2560 & ST 19 32 25 34 29 25 34 35 37 43
2570 K EHT 3 2 1 3 1 5 4 3 6 8
9999 WS X ET 148 152 143 155 156 163 169 167 194 209
3010 K#THT 16 19 20 32 22 31 42 35 35 39
3020 ELIHT 20 21 25 22 26 33 32 27 34 30
3030 - EFHT 23 25 18 27 24 15 25 19 13 27
3040 T FE LHT 4 2 9 3 5 7 7 1 5 4
3050 R AT 51 60 55 66 49 56 46 60 74 70
3060 HES AT 12 9 13 16 10 17 13 16 23 17
3070 HEAEAT 10 18 18 14 11 19 18 19 20 14
3080 HHHHT 9 4 6 10 8 5 9 15 12 17
3090 FHHEHT 5 12 3 7 5 1 7 17 11 10
3100 H A FEHT 8 15 15 17 18 15 10 15 11 11
3110 EA LAY 10 10 18 9 13 12 17 18 15 21
9999 /\ FEBR X5t 168 195 200 223 191 221 226 242 253 260
3510 2R LHT 2 4 4 4 7 8 5 12 8 12
3520 2[R ARHT 11 1 9 12 13 12 5 12 20 19
3530 E[RTHT 29 33 31 27 27 36 42 33 26 40
3540 & R AKHT 6 16 8 10 12 15 12 18 17 19
3550 A EFHT 26 20 33 26 32 28 23 25 29 38
3560 &= FERAT 9 11 16 16 12 13 9 10 12 14
3570 = T FafT 20 28 21 21 32 29 23 37 32 34
3580 FLIFTHET 19 14 17 20 21 10 16 22 20 28

3590 EHT 0 0 0 0 0 0 1 1 0 1



XH24. 7 F REREBIREZD —EHRIEIZKYSNEANEZEHT-AO
(H30.5.31 IR JATEET & (KF) Bl &R A O HEFE (&5

TEET (X)) a—F {TIET (KF) 4 60 61 62 63 64 65 66 67 68 69
9999 S EKXET 122 137 139 136 156 151 136 170 164 205

4010 24)I| N ET 10 9 9 8 8 9 12 17 17 19
4020 {E &S HT 2 3 3 0 2 5 4 3 3 6
4030 15HT 6 8 5 7 7 7 16 10 10 15
4040 S HEAET 3 4 9 4 8 9 7 6 4 8
4050 7K ST 13 11 10 18 19 14 18 23 15 20
4060 E5Z HET 7 6 11 9 10 13 10 9 9 13
4070 dt[RET 11 5 4 3 3 4 5 3 4 10
4080 =;TI;HAMT 6 12 9 6 6 9 11 8 8 4
4090 R AT 10 9 7 8 14 10 12 10 7 12
4100 I FFOMET 2 14 14 11 8 6 4 4 5 3
4110 b FFnmT 14 8 12 13 9 8 3 5 9 7
9999 2RI X et 84 89 93 87 94 94 102 98 91 117
4510 EREE—ZEHT 20 23 23 33 28 26 32 3 32 29
4520 EREE — FEET 2 6 8 3 9 9 7 7 9 5
4530 EREE=ZEHT 8 3 5 6 5 6 7 5 6 7
4540 EREEIYZEHET 4 5 3 8 2 6 5 4 3 7
4550 EREE FHZFHET 2 3 5 4 2 2 3 2 0 4
4560 EREE/NFEHET 1 3 1 5 2 1 3 2 1 0
4570 EREE-CFEHET 4 3 0 2 3 4 6 1 6 7
4580 EREE/\ZFEHET 4 3 2 3 2 3 6 5 3 10
4590 EREE N FEHET 4 5 7 6 3 3 3 7 3 3
4600 AR EE+FET 3 2 3 3 5 2 1 0 2 2
4610 EREE+—ZEHT 1 3 6 2 5 7 3 3 4 5
4620 EREE+ —FHHET 4 2 5 7 10 6 7 7 9 6
9999 ARERXET 57 61 68 8 76 75 83 78 18 85
5010 RBF0 A HEET 1 5 3 5 6 13 6 4 6 6
5020 RBFNBAEAHET 3 1 6 8 1 6 9 6 12 2
5030 FRFNE{—HT 3 4 5 5 8 7 3 4 6 3
9999 REFNIX &t 7 10 14 18 15 26 18 14 24 11
5510 &b R HT 10 6 5 9 16 15 11 5 8 5
5520 = HhET 12 22 13 18 13 1 22 22 33 24
5530 78 = HT 15 10 15 12 16 16 28 17 12 16
5540 HEHT 5 4 13 6 15 17 13 9 12 10
5550 EFHT 5 3 0 5 5 1 3 3 6 4
9999 =R X &t 47 45 46 50 65 60 77 56 71 59
6010 [ BT /|NER 0 0 3 7 6 4 2 3 4 7
6020 [z ET A 3 6 4 2 5 10 3 6 5 4
6030 FEIET &I 6 6 3 6 8 3 1 3 5 4
6040 EiZEFHET 6 4 12 10 10 12 7 10 8 9
6050 JI|EHETER 7 4 12 5 4 8 4 5 7 7
6060 )| EHET 7 3 5 3 7 9 9 11 5 6 6
9999 FEERXET 25 25 37 37 42 46 28 32 35 37
6510 B &= A#GAET 2 3 0 2 0 3 0 0 0 0
6520 B & A KIEHET 5 8 6 10 11 12 7 11 15 14
6530 B E A FHHET 3 3 4 7 9 7 3 5 4 5
6540 BEALLTHT 1 2 6 12 3 10 11 4 5 16
6550 B &AM 2 RHET 1 1 3 11 1 5 4 9 1 4
6560 HZEAEILHT 0 4 7 5 5 4 2 8 6 5
6570 B E A RIHET 3 3 7 4 1 5 5 8 8 12
6580 HZEAEHT 3 2 1 7 8 4 4 4 6 4
6590 B EAKHET 3 1 2 1 2 0 4 1 2 1
6600 B &= A ST 3 3 4 4 2 3 8 3 2 2
6610 HEA LFGHET 1 1 2 1 6 2 1 2 2 3
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XH24. 7 F REREBIREZD —EHRIEIZKYSNEANEZEHT-AO
(H30.5.31 IR JATEET & (KF) Bl &R A O HEFE (&5

TEET (X)) a—F {TIET (KF) 4 60 61 62 63 64 65 66 67 68 69

9220 5= HT i H 13 18 22 14 13 17 18 16 20 23
9230 SEETE M 18 17 21 23 32 27 22 20 33 27
9240 $EHATIEE 14 4 10 9 8 11 7 5 10 10
9250 SEETALHrith 22 18 18 19 16 22 20 10 13 13
9999 FERXET 213 200 229 233 190 234 246 224 268 258
9310 HE[ZHETR 10 6 10 7 8 7 6 9 6 12
9320 H[ZHETAL 12 7 13 7 4 10 7 9 16 10
9330 E[ZHAT/NE 6 9 8 9 6 3 14 9 6 5
9340 R [ZHTREY 9 14 17 18 20 10 14 17 15 12
9999 H G X &t 37 36 48 41 38 30 41 44 43 39
9410 RETT & 18 14 10 11 14 13 17 8 19 21
9420 RHETHHE 10 8 4 10 13 20 8 7 14 10
9430 RETER 4 7 2 7 7 7 3 5 7 13
9440 RETAEF 1 1 1 1 0 0 0 0 0 1
9450 RETHE[R 0 1 2 0 0 1 4 0 2 0
9460 RET{_HE 1 2 2 2 2 1 2 0 0 5
9470 RETER 0 0 0 3 0 0 1 0 0 1
9480 SRETHEAR 0 1 0 2 2 3 1 3 2 4
9999 R&XXEt 34 34 21 36 38 45 36 23 44 55

99999 H&Et 1682 1757 1886 2006 1887 2050 2059 2130 2302 2396



XH24. 7 F REREBIREZD —EHRIEIZKYSNEANEZEHT-AO
(H30.5.31 IR JATEET & (KF) Bl &R A O HEFE (&5

TBET(KF)a—F {TEHET (KF) 4 70 7 72 73 74 75 16 71 78
10 HHHT 3 4 2 0 0 4 4 3 1
20 [E&d-HT 3 3 4 5 3 5 4 6 0
30 AT 11 4 4 9 6 5 8 6 9
40 LRHET 5 5 2 8 1 3 7 4 4
50 AXET—TH 17 17 10 8 10 7 5 4 5
60 KET=TH 5 3 3 5 9 2 1 3 2
70 KET=TH 10 3 3 4 8 7 1 10 5
80 ¥A;T IR AT 0 2 3 1 0 1 1 0 4
90 FENIIET 10 9 3 12 5 6 11 6 6

100 At FLET 4 3 3 6 2 5 1 3 3
110 2T HT 31 34 22 15 20 18 22 15 24
120 ¥A;TAHET 8 5 4 4 4 2 11 2 3
130 ¥ FHT 10 13 4 18 15 5 11 8 11
140 B [EET 0 0 0 0 0 0 0 0 0
150 ¥ FFrHET 13 5 7 5 8 5 11 10 5
9999 K IFRXET 130 110 74 100 91 75 108 80 82
510 AETIHT B 20 15 7 13 8 15 12 9 14
520 HpEEMT 7 4 3 2 4 5 4 0 1
530 /J\tEHT 5 7 3 7 6 5 6 5 3
540 EEHT 23 8 12 5 8 16 10 10 6
550 FrithET 12 8 8 6 5 15 7 8 8
560 = ZEfT 1 0 0 3 4 2 6 3 3
570 ZEEHET 4 1 1 1 3 0 3 0 0
580 #rEAHET 2 1 5 7 3 1 2 3 5
590 #EHT 2 6 1 3 2 2 2 1 0
600 ZERHAT 15 11 12 11 12 12 19 9 8
610 J&HT 3 5 3 7 5 5 2 7 6
620 $TERT—TH 0 0 0 0 0 0 0 0 0
9999 J\ XXt 94 66 55 65 60 78 73 55 54
1010 R HHT 3 12 1 3 2 4 6 10 4
1020 Lt B HET 15 9 3 10 6 9 7 4 4
1030 & FrHET 8 10 4 5 7 5 8 13 4
1040 75 FHT 13 11 5 9 12 12 4 5 7
1050 K HHET 13 19 5 13 11 10 13 14 10
1060 F_EHT 18 11 10 5 12 13 10 2 14
1070 47 ET 17 15 11 11 19 11 12 11 7
1080 & FHHET 6 9 7 10 6 7 5 11 8
1090 HEHT 13 15 16 11 21 19 14 9 20
1100 £ BiEHT 23 14 8 12 16 16 9 16 13
1110 f21EHT 2 2 6 4 7 7 5 1 5
1120 $E1EJTHT 3 2 3 1 4 1 3 3 1
1130 +5&HT 2 0 1 1 3 1 1 0 1
1140 FkJRHET 0 1 0 2 2 0 0 0 0
1150 #FRET—T B 4 7 4 3 4 9 5 6 2
1160 F/RET—T B 8 7 2 3 4 10 8 5 10
1170 ;F/KHET 6 1 4 7 5 5 6 5 7
1180 BEALHET 4 7 12 9 6 6 7 13 9
1190 #&FAHT 5 6 3 6 7 3 3 5 1
1200 XFHEI—TH 5 3 1 4 1 2 5 5 4
1210 XFHEIZTH 7 5 0 3 5 2 3 3 3
1220 T 10 5 2 3 4 2 4 2 3
1230 #xET 6 3 6 3 4 4 5 3 0
1240 ZEEHT 2 3 3 5 4 6 2 2 1
1250 fEEHET 10 4 1 2 4 2 5 5 4
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XH24. 7 F REREBIREZD —EHRIEIZKYSNEANEZEHT-AO
(H30.5.31 IR JATEET & (KF) Bl &R A O HEFE (&5

TBET(KF)a—F {TEHET (KF) 4 70 7 72 73 74 75 16 71 718 719
1260 AEh & 0 0 2 2 3 0 2 2 0 3
1270 EEHT 4 3 3 3 1 1 2 2 0 1
1280 FRAEHT 5 6 2 2 3 3 6 4 7 3
1290 £RHET 4 7 2 4 7 2 6 6 5 2
1300 % ZEEHT 7 3 2 4 4 3 5 5 3 3
1310 R/LHET 4 3 1 2 5 1 1 1 1 1
9999 XHEMZX &t 227 203 130 162 199 176 172 173 158 140
1510 HEHD L BT 25 20 12 18 23 20 27 21 16 16
1520 HEH T BT 32 23 16 24 24 25 18 18 17 18
1530 HEHNFTHET 16 13 9 8 14 10 9 13 10 8
1540 K{EFHT 19 20 7 17 9 11 19 12 7 12
9999 HEMNE X &t 92 76 44 67 70 66 73 64 50 54
2010 EEERHAT 10 5 2 3 7 8 3 1 6 3
2020 £ EFGHT 8 6 3 4 6 7 4 6 2 7
2030 L0FT 1 1 0 0 0 2 0 1 0 0
2040 ;ET—TH 10 8 4 8 3 4 4 6 2 8
2050 MET=TH 6 11 5 7 8 5 6 3 4 6
2060 5T 2 2 1 1 0 4 2 1 0 0
2070 FRET—TH 4 8 5 4 7 4 11 8 5 4
2080 FRETZTH 9 8 4 6 10 2 3 5 6 6
2090 TigHT 80 58 25 46 69 42 43 35 48 40
2100 FrdLHT 4 8 3 3 4 3 3 6 5 6
2110 HEHIFRET—T B 5 9 5 5 4 9 6 6 13 2
2120 HEHIFRBET =T B 11 14 2 6 8 6 11 3 3 4
9999 £ ERXEt 150 138 59 93 126 96 96 81 94 86
2510 FUEHET 71 55 31 42 54 46 56 40 38 34
2520 sk EeHT 40 28 16 21 18 27 11 10 16 12
2530 & /NRET 16 7 6 4 4 6 9 8 10 8
2540 FHi5HT 23 22 6 18 13 13 20 19 12 11
2550 jHHT 7 5 7 5 10 6 4 5 4 12
2560 = EHT 32 35 22 21 25 22 29 24 21 19
2570 K EHT 4 5 4 0 3 1 3 4 3 2
9999 WS X ET 193 157 92 111 127 121 132 110 104 98
3010 KATHT 34 29 23 31 21 20 37 28 29 10
3020 ELIHT 39 36 14 15 18 15 23 14 15 18
3030 - EFHT 27 20 6 18 15 19 14 17 12 15
3040 T FE LHT 4 6 2 5 4 7 5 5 3 5
3050 R AT 61 58 22 39 40 43 44 37 40 30
3060 HES AT 16 16 10 15 22 19 19 21 20 15
3070 HEAEAT 15 11 8 15 14 13 12 17 15 13
3080 HHHrHT 9 7 6 4 9 8 9 8 6 3
3090 H A ERHAT 9 8 6 5 12 11 8 8 5 8
3100 EHAFHHET 7 9 10 10 3 7 8 8 4 2
3110 EA LAY 18 13 6 14 13 15 11 11 7 11
9999 /\ FEBR X5t 239 213 113 171 171 177 190 174 156 130
3510 2R LHT 7 4 1 2 8 2 4 7 5 5
3520 2[R ARHT 20 11 11 10 12 9 14 4 6 7
3530 E[RTHT 27 20 21 21 22 22 17 18 9 12
3540 & R AKHT 14 13 13 4 9 15 12 13 10 11
3550 AHrHT 33 20 18 13 24 21 12 21 14 19
3560 &= FERAT 11 10 8 4 6 7 8 10 7 3
3570 = T FafT 36 27 22 22 27 26 17 20 17 12
3580 FLLIFTHT 18 20 7 15 11 14 13 1 17 7

3590 ;EHT 1 3 0 0 0 0 0 1 0 0
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(H30.5.31 IR JATEET & (KF) Bl &R A O HEFE (&5

TRET(KF)a—K {TEHT (KF) £ 70 71 72 73 14 15 76 77
9999 S HKXET 167 128 101 91 119 116 97 105
4010 24)I| N ET 18 16 10 13 13 12
4020 {E &S HT 2 6 4
4030 15HT 10 10 5
4040 SHEAHT 9 8 5
4050 7K EHT 13 16 12
4060 E5Z HET 12 14
4070 dt[RET 10 7
4080 =;TI;HAMT 6 10
4090 FREMT 12 13
4100 I FFOMET 7 2
4110 b FFnmT 11 3
9999 MK &t 110 105
4510 EREE—ZEHT 26
4520 AR FET
4530 EREE=FET
4540 EREEPYEET
4550 EREE FHZFHET
4560 EREE/NFEHET
4570 ERE-LFHET
4580 EREE/\ZFEHET
4590 EREE N FEHET
4600 AR EE+FET
4610 BREE+—FHET
4620 EREE+ —FHET
9999 ARERXET 6
5010 RBF0 A HEET
5020 RBFNBAEAHET
5030 REFORE]{ZHT
9999 REFNIX &t 18
5510 wh R HT 13
5520 = HhET 28
5530 FO= MY 17
5540 T EEHT
5550 EFHT
9999 =R X &t 6
6010 FEIET /MR
6020 [EMT
6030 FEIET &I
6040 EiZEFHET
6050 JI|AMBTER
6060 )| EHET 7
9999 FEERXET 2
6510 B &= A#GAET
6520 B & A KIEHET
6530 B E A FHHET
6540 HEALLUTHT
6550 B &AM 2 RHET
6560 B ZEAEILHET
6570 B E A RIHET
6580 HZEAERT
6590 HZEARHT
6600 HZE A DT
6610 HEA LFGHET
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6620 HZE A S FgHT
6630 HRA T FGHET
6640 HZE A EithlT
6650 HZEAHET

6660 HZ A RHET

9999 HEARKRET
7010 Z R;M O /T
7020 — B AHT

7030 = R FR#AMET
7040 — B T KEFHT
7050 — R 7 H I ET
9999 — R Et
8011 IRAETFGHERLY
8012 IRAETFERA
8013 IR AHET AR (S
8021 RAHTIEKLY
8022 RAHTEKA
8023 RAHETIEKIE
8031 RABTH ALY
8032 IJRAHTH A A
8033 JABTH AL
8041 R AHTHLIFL
8042 RAHETELIFEA
8043 R AHTELIFIE
8044 IR AHTHLIFIZ
8045 IR AHTELIFIZ
8050 R AHETIRA
8060 IR AHTFTHA
8070 RAHTEEAR
8080 IR AHT Hki#A
8090 I AHT &
8100 JRAHETH /IR
8110 IRAHT I 5=k
8120 YR AHTEE":
8130 JRAHTH L

8140 IRAHTEFRT
8150 IRAETEFEL

9999 AKX &t
9010 FTHTRZEH
9020 FTHTE E A
9030 FTHT#H & H
9040 FTHTHEIH
9999 FTHKRXEt
9110 SRET T HIE
9120 $RETH L
9130 RETH E
9140 $RET T+t
9150 $EET L 45
9160 SEETEERT
9170 SERTNH
9180 fEMTEE

9190 $RATZ O
9200 £=HT U
9210 SEETEH
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XH24. 7 F REREBIREZD —EHRIEIZKYSNEANEZEHT-AO
(H30.5.31 IR JATEET & (KF) Bl &R A O HEFE (&5

TEET (X)) a—F {TIET (KF) 4 70 71 72 73 74 15 76 71 18 19

9220 5= HT i H 14 15 8 12 11 22 21 11 14 23
9230 SEETE M 26 22 9 16 16 14 19 14 12 17
9240 $EHATIEE 10 8 4 8 4 8 13 6 8 8
9250 SEETALFrith 23 11 6 7 9 11 9 18 11 15
9999 FERXET 278 215 122 193 200 184 195 186 159 163
9310 HE[ZHETR 9 7 5 7 6 8 8 10 12 6
9320 H[ZHETAL 12 12 6 8 9 1 10 11 9 8
9330 E[ZHAT/NE 1 2 7 7 4 5 8 6 5 7
9340 R [ZHTREY 12 7 10 11 7 11 17 20 21 12
9999 H G X &t 34 28 28 33 26 25 43 471 47 33
9410 RETT & 18 13 5 8 15 10 9 24 11 15
9420 RHETHHE 12 8 8 10 19 8 8 13 14 15
9430 RETER 5 10 4 8 6 8 13 9 5 12
9440 RETAEF 1 0 0 1 1 1 0 1 1 1
9450 RETHE[R 1 0 0 1 0 0 1 1 0 0
9460 RET{_HE 1 0 2 1 0 1 2 1 2 1
9470 RETER 0 0 1 0 0 0 0 1 0 0
9480 SRETHEAR 6 1 5 0 1 1 1 3 1 4
9999 R&XXEt 4 32 25 29 42 29 34 53 34 48

99999 H&Et 2220 1906 1101 1519 1692 1555 1673 1554 1421 1320



XH24. 7 F REREBIREZD —EHRIEIZKYSNEANEZEHT-AO
(H30.5.31 IR JATEET & (KF) Bl &R A O HEFE (&5

TRET(KF)a—K {TEHT (KF) £ 80 81 82 83 8
10 HHET
20 fELHT
30 @MY
40 LEHET
50 AET—T B
60 AET_TH
70 ABT=TH
80 ¥A;T IR AT
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